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Sci[iy!
http://www.scilab.org/

* Scilab for beginners — tutorial
https://www.scilab.org/scilab-for-beginners-tutorial

* Getting Started — Content
https://www.scilab.org/getting-started-content

* Jupyter Notebook (jupyter Notebook TScilabZFE L V=L MEE)
https://www.scilab.org/jupyter-notebook

* Scilab on cloud(cloudhR M Scilab)
https://cloud.scilab.in/

* ScilabBAREAILT
https://help.scilab.org/docs/2024.0.0/ja_JP/index.html
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x=[0:0.1:10];
y=sin(x);
plot (x,y);
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r Scilab Console _ R
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- exec(‘test.sce’);
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(f51) 11111422222/33333-4444...
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ESHEFERDIERT: TXRIS; (ZHAHIFHEITNIERTR)
TOSSLFBOarI://
./{g%:/\
($51) x=3; y=2;z2=x"y
B %i
HIGERI

(151)
X=3+%i*2
y=x’ BlOEFEEETEL, BERT 5

093300 DEE(2)
BRER  ==(F), “=(TF), <, <=, >, >=(K/]H)
BEDB%t, D% DEEZES.
(XIFEAECEELRILED, RFEFILI=TIE4L~=)
(51)
x=1; y=0;
X==
X~=y
x>y
SMINEE |(ERIEFD, or), &(ERHIEFE, and), ~(BE)
(51)
x=1;y=1;2=2;
(x==y)&(y~=2)
~(x==y) BIOERTHEZFTAL, BEIT S
(x>z) | (y==2)
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O #H A A A REEL: AL T D ”Elementary Functions” %58

= ARE#K : sin, cos, tan, sind, ..., acos, asin,atan, acosd,...(dh M {F< L)
c EHIWERZFE sqrt (FAIR), pow(RNEFE)
EHE round (UIEFR A), floor(FIYTIT), ceil(BIY EIF)

HE R R real (EER), imag(REER), angle(fItEA)

TS EHEXIHE : abs (FEXHE), sign (FF5)

FEERY mod (7, B

FEEBAE & T ZUBE 4K : exp,log,log10,log2
ZFDIEMDEHsinc,bessel, ZELET-{EA

O TEE . %7 {TI1+5.
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x=[1,2,3,4]

FIRTRIL

y=[1;2;3;4] (;[EHITZEERT)

FIRTGRILD R DFRIR

v=[1,2,3,4) ([X1THIDEREZRT . 1TEHNNRKT D)

HEEZEHBIMSEBHITRIML |CEBLGEIZHITHESIIL

x=[1:10] RV, 1THIICHRE
y=[1:10]’

“FEERINDEZFIETELHED

x=[1:0.2:4]

RITHRREETETD

y=[0:2:10)’




RIRILEFTHI(2)

1THIDIEE
A=[1,2,3
4,5,6]

THDEEDHDFIR
A=[1,2,3;4,5,6] (;I&KIT)

ARUMILELSDITTITHEFES

x=[1,2,3]

A=[x;x]
B=[x;2*x;3*x]
C=[x,[4:6];6,5,4,4-X]

“F1T751
A=zeros(2,3)
B=zeros(1,3)

BT RTIDITH
A=ones(2,3)

B {11751
B=eye(3,3)
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x=[1:3]

A=diag(x)

—FRELELATHI(0HV 5 1 DFE])

A=rand(2,3)

1THIDMBE
A=[1,2;3,4]
B=[5,6;7,8]
C=A+B

D=A+1 (THIDEHDIC1EZET)

RITHRRZFHEL, 85I 5

ITHIDTEE
A=[1,2;3,4]
B=[5,6;7,8]
C=A*B
D=A*2

ATMLRBIXITIRED—FE
x=[1,2]

y=[3,4]

z=x*y’

w=x"*y

(Z2DFERMNESEISTEE)

FTHDRPCENRE
C=A.*B

1A DERE
D=A’




RIRILELTHI(A)

AT DENYEHFEITHZED)
A=[1,2;3,4]

x=[1,2])

y=inv(A)*x (invIE&1751))

ATHDEHTEDEYE
A=[1,2;3,4]

B=[3,4;1,2]

C=A./B

EAITHIDAREZFE
A=[1,2;3,4]
C=AN2

TP EDREH
A=[1,2;3,4]
C=A."2

RITHRZTFEL, 8FEID

NIk ILEFTH(5)

T 13 PN S = s i by B4
x=[0:0.1:10]

y=sin(x)

z=abs(y)

plot(x,z)

ARIMLDES
a=length(x)

ROMLOE, &

a=mean(x)
a=sum(x)
ITH DY AX

ATHIDIR N ZERYHT
A=[1,2;3,4]

a=A(1,1)

b=A(1,2)

1TH DR 52BN
A(4,5)=1

ATHD AR ZERYET
A=[1,2;3,4]
c=diag(A)

ATHDR D ERYHT
A=[1,2,3;4,5,6]
a=A(1:2,1:2)

b=A(1,:) /[ XT RTERT
c=A(:,2)

A=[1,2,3;4,5,6]
x=size(A)

RITRRZTFEL, §5EI5
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*diag

°* norm
eorth
°rank
*trace
*inv
*pinv
*spec
*expm
*logm
esqrtm
lu

‘qe
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2RITT Z7(1)
®plot (x,y)

XEH[ZART ML yER IR )LyES G SETITAvhT 5.
x=[0:0.1:10];

y=sin(x);

plot(x,y);

[x(1), y(1)], [x(2), y(2)], ... [X(N), y(N)ZDZENTY 357
29 5. y

/\( [x(4),y(4)]
x(1),y (1) \/

2RITT5(2)  ER

®plot (x1,y1,x2,y2,...) BREDTZ7%EL
®xtitle(‘title’ , 'xlabel’, ’ylabel’) AR ILESN)LEF TS
®legend(‘leg?’, ‘leg?’,...) FLBIZ T3

®xgrid J)IRREANS
®grid on JS57RI2T)ykrEAND
x=[0:0.1:10]; pialol

y=sin(x); ﬂ

z=cos(x);

plot(x,y,x,z);

legend('sin’,'cos');
xtitle('plottest’,'time’,'amplitude’);
xgrid();
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®plotFARZFE->THEZREWLTAS

rad = [0:0.1:2*%pi];
x=cos(rad);

y= ZIIZELDIE?
plot(x,y);
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il fEl 32 (1)
forX (for...end)
x=0;
fori=1:10 //ANJBMILERICREDIE. i=1:0.1:10f=& ?
x=x+1; //CEEED L7 +=LHEL>

end
X /IR
swhile3 (while...end)
i=10; x=0;
while i>0
X = X+i;
i=i-1;
end ——

EITHRR=FHEL, 85EI D

X

Hl1EI 5L (2)

if3 (if...elseif...else...end)

x=[0:0.1:10]; [INIBIVETESE
y=[1; [/EDRINIVETESE
for i=1:length(x) //CNDERKIE?
y(i) =sin(x(i));
if y(i)<O0
y(i)=0;
elseif(y(i)<0.5)
y(i)=0.5;
else
y(i)=1.0; EITHREZTFEL, #8895
end
end
plot(x,y) EGY

MCEE DX TIE “else if” F=o1=hH%, ScilabTl& “elseif”




Bl 1EI 5L (3)

select3 (select...case...case...else...end)

fori=-3:3
select sign(i)
casel
printf('%d is positive¥n',i);
case -1
printf('%d is negative¥n',i);
else
printf('%d is zero¥n',i);
end
end

RITRRzTHEL, E¥I5

Hi{E1 3 : QUIZ
(FHDEEEIaL—RLT=0N.

MADHIFESIGEIN?EZ, EITEL.
m=1.0; //E&EZ
k=1.0; //IXREH 0

x=1.0; //HHIIE |
v=0; //FEEE

dt=0.1; //BERIZIH k m

record=[];//fC &k FH
for time= 0:dt:10 //B%%l _M/\/_

F=-k*x; //IXRIZE>TELSDH
a=F/m; //ECHIEE
V= V4 /ERE
X= X+ /BB
record = [record,x]; //ERER (%THo=v : REMLAHBTTLN)
end
plot([0:dt:10],record);
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LR—EREE(2)
REICEEFILI-TL—F (FoN, #iE) Bmbhot-&=
DkRFEIIaAL—ME L.
(EVk: ADERHEND)
INR TR F=ma=-kx
INRT RS 2 73% : F=ma=-kx-cv

I >
—|__H .

BE£R(1)

ORI AL TOTSLEIEIRIDTFZAIL.
AT 045 L Tldexec( )& >TREAMI7MILEHZARAD

VBT 74 Il myfunc.sceD &

function out = myaverage(x) //out: IRUE. x:51%K
y = sum(x); [/sumARTL)L, FTHIDEET
y =y / length(x); //length: RIR )LD RS
out =y; [/BYEIZRA
endfunction // 51 [&endfunction

VAL TAT 5L test.sceD P &H

exec(‘myfunc.sce’); J/BAE T 74 IV DERHIAH
x=[1:10];
y=myaverage(x)

RITHERZTPHEL, 85895
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OB M5IE, RYMEBIEAVMIL, ITHITHELLY.
O RYEIIHFEETH KLY

vVEE T 74 I myfunc.sceDH &
function [outl,out2] = myaverage(x,y)
outl = x+y;
out2 = x-y;
endfunction

VAL TOY S LA test.sceDH 5
exec('myfunc.sce’);
time=[0:0.1:10];

x=sin(time);

y=cos(time);

[a,b]=myaverage(x,y);
plot(time,a,time,b);

ETHRRZTEL, §5EI5
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®playsnd(y) RIIFIBST . yITHERIRIL
x=[0:0.1:1000];

y=sin(x); //1 % 100000 IE 3% ;K
playsnd(y);

y=sin(2*x); [/@EWIETKK
playsnd(y);

y=[sin(x); sin(4*x)]; //2 % 100000 IE3% K
playsnd(y); [[BEEEHTESEMNHECAS

y=rand(1,10000); /525 LZR 5
playsnd(y); [TRDAR/AXHEZZS

ETHRRZTFEL, 85EI5
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=5 D+LN(2)
®loadwave(‘filename’) wave 77 A ILEFHRA AL
®savewave('filename’y)  RIlyZwave 77 ILICLTEZET

y=[sin(x); sin(4*x)]; //2 % 100000 1E 3% K
playsnd(y); [[BEEELEETESEMNECAS

savewave(’sample.wav’,y);

XIT7AILDRFER EpwdaTURIZE>THERT S
MXREFETAIERELEZ-ITIEcdav U REAWS.

HEF-waveI7MIILEBELTHS

LR—IEREE (3) : R D HDIGEDH

EELEEEZERE L. IBE(Zwaved7AILT
[X75<ScilabD T O S LTF7AILTRLY,

(EVMFLEI7YSVRDEERBZR NS,
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